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Note: Answer any FIW full questions, cffiS ONE full question@P each module.

,*fu- 'dr".d
I a. State Ohm's law and mention $slliffiations. *ffiff* (04 Marks)

b. Derive an expression for enefgydhled in a magnetic field$; " (06 Marks)
c. A circuit of two parallel redisfurs having resistance gf 2QC) and 30O respectively connected

in series with 15C) resis(ot If ih. po*.. dissipation,i4:t.SO resistor is 135 watts, find.:

i) Current in 2OOapq{ tOO resistors #**,ii) Voltage acrossffit" circuit and ,:J

2 a. State anffipin Kirchofls laws. d 
-' 

(04 Marks)
b. Acoi

iii) Power.omittq;h in 20O resistor. 4"" d
' o#l.r .
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,,tfiYts.9d ur 20() resstor. &*, - (06 Marks)
{il. Si$i. r1'l'lia1,.;\
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A coilrcfrgists of 600 turns and a_cugrent of 10A in the cpil gives rise to a magnetic flux of
rm ffica%ulate: i) Self induclaffi ii) Induced emfffi Er"rgy stored whJn the current
is reverSbd in 0.01 second. "'ryp (06 Marks)15 rsvsrucu ur v.vr Jgsuuq. **l . j{$h,y , (uo ryrarKs,

A coil of 1000 turns is wounddon a silicon steel ffi of relative permeahility 1200. The ring
has mean diameter of lO&ifuand cross-sectionpl{p;eh of l2cm'. Wkqa current of 4 ampere
flows throush the coilvfinile ,{irh Wflows through the coildfutk * **W "qdc:

i) Flux in the coil **r " W- ^. M"

i'i) Inductance,gf tffe coil eq# 
"-ry@iii) The emfin@ed in the coil if *rEflu* AUs to zero iittq frntireconds

iv) Now if@iher similar coil ffitl$ed such that 70/g riibgnetic coupling exists between
the cojlsjtrnd the mutual in'&trCtance. .'*". (06 Marks)

, @ d'&- &ffiM.
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,,* "'\ flq-3' Module-2 tui.t"
a. Expffihe working prinffi'Uf l.c. generatory (04 Marks)
b. 

"Exdain 
working princffiffidynamomete6frh" of wattmeter. (06 Marks)

c.*5:he field resistance andWmarure resistatte.Fpf a 500V. 4 pole wave connected of a 500V. 4r.ffi field resistanc.#"# i$rutur" ."t
;,mpole wave conneglEtfulc shunt motor
'..,'has 492 conducdor&and flux per polhas 492 conducdgr&and flux per pole iS 0.05 wb. Calculate the speed and torque when the

full load curq6nt+ii"20 amps. @ (06 Marks)

).. i:.*e,S ,, 
u*' oR

a. Derive .qouiio, for the toriqpdheveloped in the armature of a D.C. motor. (04 Marks)
b. With neat diagram, expJffihe working principle of inducting type energy meter. (06 Marks)

c. A 4 pole 1500 rpm dc ffirator has cup wound armature having 24 slots with 10 conductors
per slot. If the flu5 pgr pole is 0.04 wb, calculate the e.m.f generated in the armature. What
would be the Be@ed emf if the winding is wave connected? (06 Marks)
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f a 500V, 4 pole wave connected of a 500V, 4
shunt motor arE ohm and 0.1 ohm respectively. The armature



5a.
b.

c.

6a.
b.

Module-3
Prove that in a pure'ly inductive circuit the current lags

With the help of circuit diagranq explain the two

1sELE15/25

by 90'. (06 Marks)
(04 Marks)l of 1 amp.

uit. The current of 2.2A flowing
#istor, power loss of 96.8 capacitor is
Also find the p.f. of the circuit.

(06 Marks)

(04 Marks)

A 250 volts at 50Hz is applied across R.C. seriet

through it causes a powerloss of 96.8 watts inffi8
negligible. Calculate the resistance and caPacffiH I
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7 a. Obtain re
connect

b. Derive ffi&t{.f equation of an altgna$r. (06 Marks)

c. n lpdifuefta connected load,*qaicsumes a power ofu6QkW taking a lagging current of
200&M fine voltage of 400vffi2, frnd the param$'of each nhas1. (04 Marks)

-llls d q# -*--..*oR #rv'.l.

i,a rl}4, (Jl(
8 a. Show that in a three pSffitar connected ba

measure the total oow&mffiIso obtain exoresg,i
Show that in a three pfi@tar connected badfr,ed"circuit two wfuffidters are sufftcient to

measure the total po*@Iio obtain expressffi{brpower fr:j"l q{rt" circuit.. ^ 
(0s Marks)

b. A 3 phase, 16 pole aSerfrator has star cAgri#ffid winding qithJaa slots and 10 conductors
per siot. The fluX- per pole is 0.03wb un{ ih. rp"ed is 375r-pp Fit a tn" frequency, the phase

emf and tineffit.Assume pitch-ffief h : I and diStribution factor ka : 0'96. Also

determine theffiut KVA of the ffi&*ra',or. 
If the totf,l cdrrent in phase is 40A. (08 Marks)
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9 a. Deriuemmf equation of a trdpffiOrmer. *' (04 Marks)

b. Deriffidre r"lutio, ship*fu"&iffe5n the frequency df tt. rotor induced emf and the frequency of
4he$upply given to thd5ffip:;. J, J^fr*' (04 Marks)4he'fiupply given to the'st'*tor. 'i; ii'ir'+' (04 Nlarks)

"-@oo'ri#a] 
#f**pe Kn u, efficienffiYgzyrat tull load, unity power factor and at half

@?"U load, 0.9 pqw,#ixklctor. Determing, it$ efficiency at 80% of full load and 0.95 power*'f".tor. ' ^ \# *o * (og Marks)*factor. 
* ff & (o8Marks)
r'*ryr". -r*-\,

#%"iu" rsry. oR
10 a. Explain there&darious losses,in * transformer and how to minimize them. Give equations for

theie losses. *#M (06 Marks)

b. A 250 KVA, 11000/4q1#Y,'50H2 single phase transformer has 80 turns on the secondary.

Calculate: i) Maximurrfvalue of flux ii) Rated current in primary and secondary. (04 Marks)

c. An 8 pole alterpptof runs at 750 rpm supplies power to 4 pole induction motor. The

ftequency "t.ffi 1.5H2. What is the speed of the motor? What is the slip? (06 Marks)
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